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CHE-09 : BIOCHEMISTRY  

Time : 2 Hours  Maximum Marks : 50 

Note : Answer any five questions. All questions 

carry equal marks. 

1. (a) What is the energy currency of the cell ? 

Explain why mitochondria is referred to 

as the powerhouse of the cell. 5 

(b) Which disaccharide is known as milk 

sugar ? Draw its structure and explain 

how it is different from sucrose. 5 

2. Write short notes on any two of the  

following :  2×5=10 

(a) Lipoproteins 

(b) DNA double helical structure 

(c) Starch 
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3. Define each of the following in 2-3 lines : 

5×2=10 

(a) Peptide 

(b) Holoenzyme 

(c) Replication fork 

(d) Recombinant DNA 

(e) Antigen 

4. (a) Describe the secondary structure of 

proteins. 5 

(b) What is activation energy in enzymes ? 

Explain the effect of pH on the activity 

of an enzyme. 5 

5. (a) List the water soluble vitamins and 

write the physiological functions of 

Cyanocobalamin. 5 

(b) What is glycolysis ? Discuss the 

metabolic fate of pyruvate under limited 

oxygen supply. 5 



 [ 3 ]  CHE–09 

D–3269/CHE–09 P. T. O. 

6. (a) Explain why TCA cycle is referred to as 

the amphibolic pathway. 5 

(b) Name the organelle where photo- 

synthetic activity is localised. Describe 

the conversion of light into chemical 

energy. 5 

7. (a) What is genetic code ? Write the 

characteristic features of genetic code. 5 

(b) What is an antibiotic ? List any three 

antibiotic inhibitors of protein 

synthesis. 5 

8. (a) What is an antibody ? List the five types 

of antibodies. 5 

(b) Differentiate between Sphingolipids 

and Phospholipids. 5 
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foKku Lukrd (ch- ,l&lh-) 

l=kar ijh{kk  

twu] 2025 

lh- ,p- bZ-&09 % tSojlk;u 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA 

1- (d) dksf'kdk dh ÅtkZ eqnzk D;k gksrh gS \ O;k[;k 

dhft, fd ekbVksdkWfUMª;k dks dksf'kdk dk 

ikojgkml D;ksa dgk tkrk gSA 5 

([k) dkSu&ls MkblSdsjkbM dks nqX/k 'kdZjk dgk tkrk gS\ 

bldh lajpuk fyf[k, rFkk O;k[;k dhft, fd 

lqØkst ls ;g fdl izdkj fHkUu gksrh gSA 5 
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2- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×5=10 

(d) fyiksizksVhUl  

([k) DNA dh f}dqaMyuh lajpuk 

(x) LVkpZ 

3- fuEufyf[kr izR;sd dks 2&3 iafDr;ksa esa ifjHkkf"kr dhft, % 

5×2=10 

(d) isIVkbM 

([k) gksyks,atkbe 

(x) izfrÏfr 

(?k) iqu;ksZxt DNA 

(³) izfrdkjd 

4- (d) izksVhuksa dh f}rh;d lajpuk dk o.kZu dhft,A 5 

([k) ,atkbeksa dh lfØ;.k ÅtkZ D;k gksrh gS \ ,atkbe dh 

lfØ;rk ij pH ds izHkko dk o.kZu dhft,A 5 

5- (d) ty esa ?kqyu'khy foVkfeuksa dks lwphc¼ dhft, vkSj 

lk;uksdkscky,sehu ds 'kjhjfØ;kRed izdk;Z 

fyf[k,A  5 



 [ 6 ] CHE–09 

D–3269/CHE–09 

([k) Xykbdksfyfll D;k gksrk gS \ lhfer vkWDlhtu dh 

vkiwfrZ ds vUrxZr ik;#osV dh fu;fr dh ppkZ 

dhft,A  5 

6- (d) O;k[;k dhft, fd TCA pØ dks ,sEQhcksyh iFk 

D;ksa dgk tkrk gSA 5 

([k) ml dksf'kdkax dk uke fyf[k, tgk¡ izdk'kla'ys"kh 

fØ;k fLFkr gksrh gSA izdk'k ds jklk;fud ÅtkZ esa 

:ikarj.k dk  o.kZu dhft,A 5 

7- (d) vkuqoaf'kd dksM D;k gksrk gS\ vkuqoaf'kd dksM ds 

fof'k"V vfHky{k.k fyf[k,A 5 

([k) izfrtSfod D;k gksrk gS\ izksVhu la'ys"k.k ds fdUgha 

rhu izfrtSfod lanedksa dks lwphc¼ dhft,A 5 

8- (d) izfrfi.M D;k gksrk gS \ izfrfi.Mksa ds ik¡p izdkjksa 

dks lwphc¼ dhft,A 5 

([k) fLQaxksfyfiMksa rFkk QkWLQksfyfiMksa ds chp vUrj 

Li"V dhft,A 5 

× × × × × 

 

 


